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As alwcujs, it is not necessary lo Print oul all of these slides so
Pleo,se read them leough careJ:ulllj $0 you can decide exacHH which

are needed as ad POPGF COPH.

Tho,nk l:jOU.
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OMS: Inleraclive game—Weigh the parcels in ||<9 weing (top ophon)
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WAI_T SO[VC ane- Sl76P Problems mvolvmg mulhpltcahon bH calculahng H’le answer usmg arraﬂs

Leb's see all the words
we need fo use when 9rOU,PS Of
solving mulhplicahcn

Problems.




WALT: Solve one-skep Problems 'mvo[ving mulhplicahon bﬁ calcu[ahng the answer u,s'mg arrays.

How many ears are there? )
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Now add all the circles togeHler lo find the

answe I"!




How many e ere? 5

@@@
{ 2x3=06 }

6

ears



Mia thinks that each person at her Partg will eal 2 biscuits each. There will be 6

people.
How many biscuits will she need? %
&

Wrike Hne sum, clro,w Hw O,I’T‘O,H o,nd write HOU,F answer.




The teacher need each lable to have 3 Pencils. There are 5 lables.
How many Pencils will she need all togeH’»er?

Write H"LC sum, dFOW H’LG OFFOU o,ncl write leur answer. g




WALT: Solve one—step Problems involving mulhplicahon [)5 calculahng the answer using arrays. ‘

WILF:

DFO,W HOUF O,FFOH tO match Hw numbers

Count HOU,F arro,ﬂ

Write dOWﬂ HOU,F answer

Count in 2s and colour in the grid: Work out these answers:
1x2-= N D=

1 2 | 3 | & | s WlEns 9).2%

b)3x2-= h)4x2=
6 7 8 9 10

c)5x2= )6x2-=
n | 12 | 13 | 1 | 15 4 Tz P
16 17 | 18 | 19 | 20 9Ix2= k) 10x2 =

fliix2= )12x2 =
21 22 23 24 25 -

How many ears are there?

EERER

1}
O
~
X
[}




WALT: Solve one—step Problems involv’mg mulhplicahon [)5 calculahng the answer using arrays.

WILF.
Cl’lOOSG a worclecl Problem

Underline the imporkank informahon
Draw your array lo makch the numbers
Count your array

Write dOWI’I« HOU,F answer

= How munﬂ bi.scuils wnu SI’HB neecP

Q Thereum#spﬂrHerslnabm{SamhosE boxes.
How many spurHers does he have auﬂgel'hcr?

The leacher needs each fable fo have 4 pencils. There are 6 fables.

HCFW munH PCMI[S Wi-u Shﬁ neecl a|.l l'aﬂekherp

@' Ben wanls ko buH 2 lallies For euch of |'1is _JF J:ri.ends.
Huw manﬂ lulli&s w;ll he nced ko buH?

A

Mia Huinks thak each person af her parby will eat 5 biscuiks each. There will be 3 people.

b LUCH |’\€I-S 2 ruclcs GJ: CDIS. EBCl"I mc|< l‘ltOlrdS |0 CDS
HD’W lTlﬂ-rlH }'I.-GS SI’IE.' ulh}gcfhcr?

@ HurrH's cluss are cullechng shacs |;o send |;o J‘\fri.cu. His cLuss coucc}cd 6 P-uirs of shaes.

&

Haw mnﬂ indi.vi.duul sl'loes WEre callecked u”;ogal‘l’ler in Yeur |?

T} takes Gracie 2 minules ko walk ko Howley Grange School each day. She walked to school every
doH for 5 doH&
Haw many mi.nufcs cli.d Gracie sPend wuucing ko schml in ane week?



WALT: Solve one—step Problems involv’mg mulhplicahon [)5 calculahng the answer using arrays.

WILF.
Cl’lOOSG a worclecl Problem

Underline the imporkank informahon
Draw your array lo makch the numbers
Count your array

Write dOWI’I« HOU,F answer

Hia |:|f|.|.n|<s Hmk euch Pers-:m al her Pclrl'H w;u eut 5 blrscu;ls f:ach_ There w;u be _J" Pcuple.
Hcvw munH l]i.scuils w;ll she maecP

There are 10 sPurHcrs in a box Sam has 5 boxes. There are 12 seks af bwins in HmrleH G‘mnﬂe School. TheH each gel o shicker from Mrs. Holsl‘encrafk.

Q H-CFW munH SherBFS daes MFS ualskancrq:l' l‘ItCWB LO bU-HP
HD’W I‘I'lﬂnH SFIBI"HBFS CI.OBS hf.' hﬂ‘fﬂ aungcl'her?

? The leacher needs each kable fo have & pencils. There are 5 lables.
Hcvw munﬂ Pencils \n\fi.”r she nf:ecl. uu lagekher?

Tom has & J:riends over fpor bea. TheH have 5 J:ish J:ingers each!
7

How munH J:I-SI’I _Fingers does Tom's ML Hu\rc la buH J:or Tom und his _Frirends?

@ Ben wanls lo b“‘!jl 2 lollies Jor cach of his 7 friends. %’ Alice gives out 9 PﬂrLH bags ol the end of her P“rhj Inside each Pu.r{'H II)G(J are 2 balloons.

How many lollies will he need to buH?
How munH buuuurl.s dues Jﬂ‘.licc E]ive l'.ll.l.l'?



Plenarg: Co,n l:jOU, use an OI"I"OH I?O SO[VC H’LiS worded PI’OHCI’T\P

The teacher needs GOCh tab[e ITO ho,ve 7 Penci[s. . :
There are [I- ITCLHCS. ‘ ~

How many Pencils will she need all fogether?




